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Consider the preparation of titanium metal: 

TiCl4 + 2 Mg   Ti + 2 MgCl2 

If 2.55 kg of titanium (IV) chloride is reacted with 
1.00 kg of magnesium metal, 

A.  What is the limiting reagent? 

B.  What is the theoretical yield of titanium? 

C.  What mass of excess reagent remains? 













Consider the reaction of 7.31 x 1024 atoms of 

magnesium with 865 mL of 4.00 M hydrochloric acid 

(HCl).  What is the theoretical yield (in grams) of H2 

gas?  

 Mg(s) + 2 HCl(aq)   MgCl2(aq) + H2(g) 


